[ Efficiency vs vertpos |
0.5

0.09H
0.08
0.07

2T

Tl

............................................

0.05]
0.04
0.03
0.02
0.01

: ASACLIR) :
q— ------------ poceaccsaccad ]

0.8~ frevrranieannes

0.

cD
T T
+
+
+

1o2 101

—=— /data2/legianni/BDT-vs-DNN/real-BDT/CMSSW_13_0_0_pre4/src/runrem/DQM_TT__mkFit_

Efficiend —— pQm_TT_ mkFitRETEST_

0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02F
0.01

Q=

0.8

...... .

|||||||||||||||||||¢|

e ".‘ R R R 1

[ ==

-20 -10 0 10 20 30

0.6

—————]
———

|
w
o

[ Efficiency vs. sim PV z |
0.3

0.09
0.08
0.07
0.06)
0.05
0.04
0.03
0.02
0.0

0.8f---raf

-20 =15 -10 —'5 () é 10 15 20



	Contents
	Page 1


